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Shimuel said, the ruling is like Rabi Yosi — 59 9395 ;7297 9mIR PR

OVERVIEW

SR rules that the 17977 is like "01° ' that if one of 2>7V is a 7109 X 2177 the entire
m7y is Pv3, regardless whether they intended to testify or not. m90In qualifies this
ruling.

nooIN asks: )
= D)9 TIYN1 VIV V) PIMIVI 9999299 1992 1981 NN PYP

There is a difficulty with the ruling of "X, for how ‘can we find our hands

and feet’ when we give a v to a woman in the presence of relatives (to the

husband or wife) -
=503 DYVIN MTYT 9D 1Y NP

For we should say that the testimony of the 2" w> 07V is void; since the o21p
were present and saw the divorce, according to 01" " they nullify the entire M7y —

mMdoIN responds to an anticipated question;”
=17 %2 NN NI VIV YN NYUN 1IIYUT IV 22277 NINYT IND)

And this case of a v) is similar to capital cases, for we are permitting a married

woman to remarry, where there is execution by 7''s2 if the divorce is invalid and she

remarries. ,
= 1052 9193 7V MV MTY 23) “D3YY NYYWII9T DYV)

And the reason which I explained previously regarding nywsi sy (why 01 "
rules there that 7502 1017V 2109 IR 217p 17771 'R R¥11) applies to a v as well.

nvOIN continues to ask: . .
= 791D 0221990 113 AN 129957 DNIYAY NP ) 29 oM

And the difficulty is also according to 529, for occasionally one of the relatives
may intend to testify. How can we give a 03 in the presence of 0°217p?!

Mo0IN answers:
= 703 1MTYT 1IN KD 2010 2297 DT PNYY 139299 NN 1aY

Therefore it is the view of the >'' that even according to 0 '3, we do not say

that the n17v is void due to a 7091 217 who saw the act -
= ND ATINY NN Hrawa YaN 197 192 92 DIPYNY ININA NPT NON

! This expression 132311 2°7 ¥ X7 indicates that we are totally at a loss if we accept this ruling (we cannot even
find our hands and feet!). See X,nn 7wA.
* The ruling of >0 " is only regarding n1wo1 °27, but here we are discussing a b3 (not w1 *3°7).
3901 9"X 7172 on this 7Y (see n"27 MAxT). See TIE there (Summary). Regarding a v3 one 7¥ is meaningless just as
by mw»a1 °17 (as opposed to MNn» °1°7 where one 7Y is 211 a AYIAW).
* »37 maintains that a 5109 % 277 invalidates the M7y, only when they intend to testify; however here the relatives
are (seemingly) merely observing the divorce.
> In which case even *21 agrees that the 211p will invalidate the m7y.
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Only exclusively where the 2°217p actually testified before 7''2, but the 17p
does not invalidate the M7y just by merely seeing it.°

mooin asks (based on the preceding answer):
- 7154 £%23 1Y 7991 19X N DI85 1197 7299 AN )9 ON VAN ON)

And if you will say; if indeed it is so (that a 2177 voids the M7Y only if he testifies
in 7"2), what does X595 21 ask that the victim should save the murderer (since the
victim is MT¥% 2109),% but the victim is not going to testify in 7''3 (he is dead)?!

Mo0IN answers:
= %019 299 ©7YN N0 NN NINHN INTIT PNYY 13539 290 9IINY

And the ' answered that certainly initially (when the X955 27 asked, %°%> M7
7> v211) the X223 assumed that according to vy ' -

- Y02 INYTY 177 %32 PYNY PN )N 333 99
Even if the 7105 does not come to testify in 7''>2, nevertheless the m7y is void,

therefore X9 17 asked; °%° y371,9°%° 2177 -
- 1% %21 929N D”‘75 PNaVYI ‘1)2155 927 23NN 937 129102 NIYUM

However when X217 answered 927% 210577 927 "%»pna, he (also) meant to say that

only in a case where the ’7105 came to 7''"2 to substantiate the act by testifying -
04503 1MTYT D109 IN 3199 )1 TN KM Y0 %39 90N

Did o ' say that if one was found to be a o5 18 2179 that 775w2 Jn17v.

NN continues to ask:
= 99191 PPAN %Y VY NN DIYY 7999 INM 19 ON 9NN ON)

And if you will say; if indeed it is so (that a 2177 voids the M7Y only if he testifies
in 7"72), what does "2 ask previously (in our 71wn), ‘what shall two brothers do,

etc.’ (according to °0v " that a 217p always voids the m7v) -
= NYDTI 127 %23 TIYNY INIY XD ON NWYN DIV PN XD

But there is no concern if both brothers will not come to testify in 7''3 (only one

will come), as I just explained; if the second brother does not testify we accept the
testimony of the other o°7v.

® Therefore by a 3, since the 22177 do not testify at all; they are merely observing, therefore the 22177 do not void
the M7y,
7 mooin just answered that a %109 voids the N7y only if he actually testifies but the 31771 is not testifying!
¥ See X9X 11"7 '010 on this Ty why the 31177 is a MTY» Y08,
? In addition to the obvious meaning of s'X27 answer that the litigants cannot void the n7y; only outside witnesses
can invalidate the M7y, we also learn from 927 "»»pn, that only those who come to 7"°2 to substantiate the claim
(727 "n*°pn), can void the M7y but not (outside) observers who do not testify.
"% Initially the X723 assumed according to >0 "1 that a 21091 2177 always voids the n17v (even if he just saw it and did
not (even intend to) testify). The conclusion (based on X271 that 121 727 "»°°pn1) is that even according to °01" ", a 217p
voids the M7y only if he testifies. The difference between >3 and °0v " is that "21 requires that the 9109 intend to
testify when he sees the act (and then testify), but if he had no intention to testify, then even if he actually testifies he
does not invalidate the M7y, however according to °01° " if he testifies he always invalidates the M7y, even if initially
(when he observed the act) he had no intention to testify.

2

TosfosInEnglish.com



SR 7"7 'oIN X, Mon .7"02

nv0IN answers:
= 4ANN TIY N2 NT YT NOY DINYOT DIVN 9D YN

And one can say, because sometimes one brother will not know about the other
brother, and one brother will testify in 7" -
= 197 $7°22 NN PPN 129V 29 Yy 9N
Even though his brother already testified in 7''53, and this will void the entire M7y -
- NY03 YMTY OIPNI b 323 273 NG PN 199N
And even if the second brother’s testimony happened after 21237 57> of the first

brother’s testimony, nevertheless the M7y is nulllfied -
- At anx At Poo N 9P R¥1I) Poswy nwvw ! 1)’\’)‘7)3‘1 own

Because we compare three to two [regarding the rule of] one was found to be a
®108 I8 217p [even] if they testified one after the other M7 MR -

199254 %13 TIN °)ua Ath PIYYT 29 Yy 9N
Even though that regarding 772177 we require that the 2>7V testify 91297 572 71 one
after the other.

SUMMARY

Initially we assumed that 0y ' maintains that a 105 voids the M7y even if he did
not testify, however the conclusion is that a 7105 voids the m7v only if he testifies
even according to *01° " (even if it was M2°7 > INIRY).

THINKING IT OVER
1. mooin asks how we can give a vi in the presence of relatives. Why did n1501n not

ask how do we make 7"17°p in the presence of relatives?'®

2. Is Mo 1nitial question (regarding v3) valid according to the "o of 1715 21 " in
the previous >717708? 17"7 '01n?

' Since one brother was not aware of his brother’s testimony, we can reasonable be assured that they did not testify
7"21n of each other, and we know that regarding certain laws of 2>7¥ they apply only if the testimony was 7210, so
seemingly there is no concern.
12 Just like by two if one is a 210 W 211p the M7V is 7702 if the 211p testified 27 75 R (because we do not have
two 0> 0*7Y), the same is by three, if one is a 7109 the M7V is 77v2 regardless when the 7109 testified.
" The n"2n N amends this to read X¥n1 PIv% 021w (instead of X¥»1 D°WY).
14 Others amend this to read 712 o3 9109 (instead of 711 9109).
' The rule that 7nr7 is effective only if all the 0*79 were o is only in a case where they testified 7"5n of each other,
however concerning 7109 WX 21p there is no need to testify 7"21n, even if they testified 7" 71> the entre M7V is
voided. See X271 7K 1"7 '01N on this 7Y for an explanation of the difference between mnt1 and 71091 217p.
'® See TN wIon WK # 282-4.
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